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[ Solve the following word problems. ]

1) The length of one side of a square is 7.3 cm. what will be the total length of
all four sides (perimeter) of the square?

2) Geeta cycles 4.37 km every day to keep herself fit and healthy. How much
does she cycle in 7 days?

3) Ahmad placed a 1.25 m high box over another box which is 1.97 m high. What
will be the total height of both the boxes when placed one over the other?

4) Tina is 97.5 cm tall. Her elder sister is twice the height of Tina. What is the
height of Tind's sister?

5) There are 8 packets of biscuits in a box. If the weight of the box is 612.32
grams, what will be the weight of each packet of biscuits in that box?

6) If a balloon costs $0.23, what will be the cost of 10 balloons?
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1) 29.2 cm
2) 30.59 km
3)3.22 m
4) 195 cm
5) 76.54 g

6) $2.3
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